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Patrick’s score is 50.  
Remi’s score is 12 less than Patrick’s.  What is Remi’s score?
The difference between Connor’s score and Patrick’s score is 25.  Patrick’s score is greater than Connor’s.  What is Connor’s score?
Eamonn’s score is 10 less than the sum of Patrick’s score and Remi’s score. What is Eamonn’s score?
	




















Problem of the Week #2

Elliott Baked 2 cookies each day for 2 weeks.  Jordan baked 5 cookies each day for 2 weeks.  How many cookies did the boys bake altogether?
	




















